K

e ER TP

= 1.
(1) y=e"

A T R

NHEL, y=¢e Xz =logy DWBEETD 5 H 5 WD

LS| =

(logy) =
DEIZED

, dy 1 1 1
y:—: = :T:yze’
y

de  dx & logy
dy

(2) y=logz DEEEIE t >0 DEE (1+1)f 5 e THDHILEMS
log(x +h)—loge 1. xz+h lx ( )

= —log :——10

()

b B0 ERS

T8

(Y
(Y
A

1 1 1 1
= —log{(l—i—t)?} — —loge = —
x x x

N - 1
2oy =

SN

(B) y=e® D& Et=ar £EX.
B y = e 3B y = €', t = ax DEKEETH 5.

dt dy
%—a, if\_(l)ibd——
7206 B BB DM IRIZ LD
dy dy dt t _ axr
de dtdz C 0T
NAN

(4) y=loglar) D& Et=axr &HL.
FAEL y = log(az) (ZBEIE y = logt, t = ax DEEBEBKTH 5.

at  d d 1
%:%(ax):a, 72 (2) J:D dtlogt— ;

20 o GBI DM IEIZ &P



dy _dydr 11
de  dtdr t o
N AN

(log(az))" = (log z)’

TH > TAEBREDT E0H LAV,
log(azx) = loga + log x
THEDSEEBP KT L2DIIURTHS.

(5) BOMAEL (3) 12k D
(xe?);v)/ — (x)/e?)ac + x(e?)ac)/ — e3z + l’<363$> — (1 + 31’) 63:v_

6) y=e"*t* DL Et=12+22 HX.
By = 12 ZEB y = ¢!, t = 22 4 22 DAREKTH 5.

dt dy

@ oo W

dr e g

7205 GO EIZ LD

dy dydt . 240
G dide ¢ X (r42)=(r+2)e
v,

—1

(7) —1l<a<1&LTLEIN, y=ei=2 t=—1 s=1-2% £BK.

1—22>

MMy = o7t BB =1 —a? 1 = %1 y=c DEBBIBTHS.
ds

R
dx o

dt 1

ds 2

dy

at €

ThH5b. 2o BHBEBOMAIEIZLD

dy dsdtdy 1 ; —2x —1
w27 _ 9 il — 2
dr dxdsdt X 52 e (1_:[2)261

5. GERBEBOMMIEX, TSI 3HOBEBDERDE EHHoT
QAN



(8) y=log(x? + 1), t=2?+1 &BK.
By =log(z?+ 1) BB t =22+ 1,y =logt DEHEKTH 2.
dt

% =2z

dy 1

ar

THbB. oG5B IEIZLD
dy  dt dy 1 2x

dr dwdt YT 2
Y5,

9 y=loglz+VrZ+1|,t=x+V22+1 &B<.

BIE y = log |z + Va2 + 1| 1EBIEK y = log |t], t = v + Va2 + 1
DERBHRTH 5.

9 (Val+ 1) ZEHEL LS. 2=Va?+1 B t=a0+2 THBW,

TZTs=22+1,BLL =V + 11k 2= /5,5 =2 +1 DL
ThHY, EREBOWIEIZLD

dz dzds d d 1 x
e o (P4 ) = — =20 =

i dsde VY NN

Thd, (TNVWRALEFHKTHS, )

By, tizb¥se

dt d dz x

dx da:(x—i_Z) +dx * 2+ 1

dy _ 1

dt — t

720 6 BB DM TR LD

(R P - (14 ) v
dv dtdr t 241 r+Vr2+1  (z+ Va2 +1)xva?+ 1



(Va2 +1+2) 1

(r+ Va2 +1)xVa2 +1 - V2 +1

LR s,
1 Tr—a Tr—a 1 r—a
(10) y 2alog T a St P Bty 2alog T a &
= —loglt], t = L% OB 1 B,
2a r+a
dt _ (z—a " (@—a)(z+a)—(z—a)(z+a)  2a
dr ~ \z+a) (x+a)? - (v +a)?
dy d (1 1
dt — dt (2& log|t|)  2at
Thd. 2o BHREBOMAEIZED
dy _didy 20 1 !
de  dedt (r+a)®? 2at (x+a)(z—a)
LIRs.
1) y=""° ors
/ 1 x\/ —x\/ 1 x x
V= 5 — (7)) = (e~ () = cosha
(12) y=1 *‘; D
/ 1 x\/ —x\/ x x 3
V= 2 + () = 3¢ + (=) = sinha
(13) y= (:M; tanha &E<, ) DY EFOMMNIEI XY
T — o7 /_ (655 . e—x)l<€x + e—a:) . (ex . e—ac)(ex 4 €—$)/
er 4 e~ % - <€x—|—€7x)2
B (ez + 6—1)(61 + e—x) _ (ez _ e—x)(em _ 6—r) _ (em + e—x)2 _ (em _ 6—m)2
= (€x+67x)2 o (6x+€*x)2
B 4 B 1
"~ (e +e )2 (coshx)?’
ZHiE (tanzx) = IZTW5,

0s2 x



61‘

(14)y=1+ DEE FOMIEIZLD

el‘
p_ () (A+e”) = (eN(1+e”) e (L+e”)—(e")? e
V= (1+ev)? T (It (Iten)
@@yz@Hiij4)tB%ﬁﬁwﬁ&%ﬁ5.

logy = log(z + 2) — log(z + 1) — log(z — 1)

Zh o

(logy)" = (log(z +2))" — (log(z + 1))’ — (log(z — 1))’
1 1 1 2? +4r + 1

T+2 x+1 z-1 (x+2)(z+1)(x—1)

— i (logy) = L #2m5

' Z (logy)y = — 2+ 4z +1
v = (089)'y =~ 1

(16) y= /S50 e AR e 5

logy = %(log(m +1) —log(z — 1))

25
1
r+1)(z—1)

(logy)" = 1

/
—7 (logy) = Y reps
Yy

1
(x+1)2(z—1)

y = (logy)'y = —

3 -
2

(17) y = 2° (2> 0) (o REBOEE, SEBANEE H2)

MO % & 5 &,
logy = logx® = a logx

MDD, W% x THWD 9 5.
oy — L oen? = ¥
dm(ifﬂg)——(hlﬂogy)x-— )
d d o
L ETD = 0— - =
dx(EL_) ozdx(logx) "



Thb. LT

’ (%

(0]
Y == xy=—x2*=az*"!
T T



